XOA SO

Cho 1 s06 nguyén N (t6i da 1000 chit s0). Hay tim s6 16n nhat c6 dugc sau khi x6a 1 chir so
trong N.

For an integer N (1000 digits). Look for the largest number by deleting one digitin N.
Input

- Dong dau chra T (T<100) 14 s6 b0 test.

- The first line contains T (T <100) is the number of test cases.

- T dong sau moi dong chira 1 s6 nguyén duong N (N>9) khéng qua 1000 chir sé.
- T line after each line contains an integer N (N> 9) of no more than 1000 words.
Output

- T dong, moi dong chira 1 két qua tuong Ung.

- T lines, each containing a corresponding result.

Example

Input:

3
2013
4673

10

Output:

213

673
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